CHAPTER
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The runway orienlalion is made 5o that landing
and take off are

{@) againsl the wind direclion

{b) along the wind direction

{c) perpendicularto wind direclion

(d) noneof lhese

The depressions and undulations in the pavement,
are caused dug 10

(@) improper compaction of subgrade

{n) impaci of heavy wheel loads

(¢) punchingellect

{d} all the abovs.

Pick up the correcl statement from Lhe following:

{a) The speed of the aircraft relative lo the
ground, is called cruising speed

(b) The speed of ihe aircralt relative to wind, is
called air speed

{c) When wind is blowing the direction ol the
flight, air speed is less than cruising speed

{d) Allihe above,

Airport elevation is the reducad level above
MSL, of

(@) controllower

{b) highest point of the landing area

{c) lowesl point of the landing area

(d} none of Ihese.

According 10 1.C.A.Q. the recommended length
of airparts is decided on

{a) sealevel elevation

{b) standard sea level temperature (15°C)

{c) elfective gradient percentage

(d) Allthe above

Pick up Ihe correct slatement lrom the following:
{(a) The basic length of a runway is increased at
arate of 7% per 300 m of elevation ol M.S.L.
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{b) The standard lemperalure at \he sile is
oblainad by reducing the slandard sea leve!
temperature of 15°C atthe rate of 6.5°C por
1000 m rise in elevation

{c} Theaerodrome reference temperature is the
monthly mean of the mean daily temperalure
lor the holtest month of the year

{d) Allthe above.

The meterological condition which influences ihe
size and location of an airport is

{8} almosphere pressure

{b} air densily

{c) reduced leve!

{d) wind directicn

The thickness design of lhe paverent, is decided

on the load carried by
{8} maingears (b) nosewhee!
{c) tailwheel (d) allthe above

Beaulort scale is used to determine
(a) strengih of winds

{b) direclion of winds

{c) heightofaireralls

{d) noneol these

Q.10 Wing {pading of an aircrait is

{a) load of the wings

gross lolal weight of the aircraft
load of wings

gross tatal weight of he aircraft
c) ving area

gross tolal weight of the aircraft
(@ “\otal avaiiable H.P. ol engines

Q.11 Pick up the correct statement from the following:

{a) Thecentre line ofthe approach area coincides
with that of the runway

{b) Approach areas are measured in horizontal
surlaces

{c} Theimaginaryinciined plane whichis direclly
above the appreach area is called approach

0.14 According 10 1.C.A.O. ali markings on The

runways are painted white and on taxiways
{8) black {b} red
©) yeliowr {d} green

sudace Q.15 The runway length after correcting for elevation

(d) Allthe above andiemperature s 2845 m. i e offeciive gradient
Q.12 Thebestdirection of a ninway is along the direction on runway is 0.5 percent then the revised runway

of {ength will be i

{a) longest line on wind rose diagram {a) 2845m {b} 2810m.

{b) shortest line on the wingd rose diagram {c) 3030m {d) 3130m

(€) line clear of wind rose diagram (.16 Thelengthof runway under siandard conditions

{d) Nonaof thaso is 2000 m. The elevation of airport sile is 300 m.
Its reference temperature is 33.05°C. I the rwnmway.
Is to be constricted vith an effective gradient of
0.25 percent, the corrected runway length will be
{s) 2500m {b} 2600m

"ic) 2700m {d) 2800m

Q.13 For tho laxiways, the [oliowing siatement is true
{a) The maximum longliudinal grade is 3%
{b) The permiissiblaralecichangesl gradeis 1%
{c) The permissible iransverse grade is 1.5%

{d) Allthe above
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Answers By

1L(g 2@ 3(d) 4@ 5@ 6() 7.0 8@
1.{d) 12, (2} 13.{d) T14.(c) 15 () 16. (&

9. {@) 10.{c)

15, {d} 16, (e}
Revised runway length Standard temperatura
20 = 15°-0,0085 x 300 = 13.05°
= 2845+ 55 x05% 2845 = Diiferenceintemperature
=3129.5>3130m = AT=33.05°C-1305°C=20°C =~
The correcied runway lengih

= 2000{1.07 x 1.2 % 1.05}
= 26968.4m=~2700m



